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Device s, Yy X,
Generator G,: 48 MVA 20KV 20%
Generator G,: 25 MVA 138 kv 16%
Transformer T1: 50 MVA 20/110 kv 8%
Transformer T2: 30MA | 138/110k/| 6%
Transformer T3; 50 MVA 11/110kv ) | 10%
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Device s, y X,
Generator G (48 MVA 20K ) 20% BUSI @ Line 1 BUSI @
Generator G,; 25MA | 138KV 15%
Transformer T1: S0MVA | 20/110kv ]| 8%
Transformer T2: 30mvA | 138/110kv/| 6%

Transformer T3: 50 MVA 11/110 kV ) 10% > /
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Device 5, Uit X,

Generator G: (48MVA | 20kV) 20%
Generator G,; (25MVA | 138kV) 15%
Transformer T1: 50 MVA 207110 kv 8%
Transformer T2: 3omvA | 138/110kv/| 6%
Transformer T3; soma | @gatowv ) | 0%
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Device 5, U, X,
Generator G,: (48 MWA 208 ) 20% BUSI ® Line 1 Busl @
Generator G, (25MVA | 138kV) 15%

Transformer T1: 50MvA | 207110k 7| 8% ™)

Transformer T2: 3omva | 13s/110kv/| 6% [
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Device s, U
Generator G,: (48mvA [ 20KV )
Generator G, (25 MVA 13.8kV)
Transformer T1: 50MVA | 20/110kV ]
Transformer T2: 3omva | 138/110kv/
Transformer T3; somvA | G110k )
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90 MVA
22kV
Xp.u.0.18

g Line 1 X (
EE;
220KV ( 66.5MVA
T T2 10.45kV
: 6 Xp.u.=0.185
3 ( Line 2 )(
2 Yrm
)( 3ph Load 10.45kV
) ( 10KV J/ Absorbs 5TMVA
T3 T4 @ 0.6pf (lag)
T B5OMVA  22/220kV Xp.uz0.10
T2: 40MVA  220/1kV  Xpu:=0.06
T3: 40MVA  22/110kV  Xpu.= 0.064
T4: 40MVA  10/1kV  Xpuz008

Line 1: 48.40hms (total)
Line 2: 65.430hms (total)
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Vbaset 1 Vbase?

Vbo.se3 Vbase4
110kV 11kv PEguru.com
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Eg and Em are internal voltages behind the machine's reactance.
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